Calculus Surds Practice #3

Simplify fully:
1. 4412 — 5V75
2. 28 x 3V72
3. 192
V27
4 V18
) V324
5 v16x5
8x2

Expand and simplify fully:

6. V3(1+2V147)

7. (5++50)(3-+18)

8. (2V3 +5)(3V12 + v20)

9. (X—=+V7)(X-+63)

10. (X—+2a)(X—+2a)

Rationalise the denominator, then simplify fully:

17, Y3+evz
V72
12. - _1\/2_
13. - ‘_/?\/3_
15. 17+_‘/\/7§

Prove that:

16. V3x—+2x

x —
V2 +V3



Answers: Calculus Surds Practice #3

Simplify fully:
1. 4V12 —5V75 = 443 - 5V25V3
2. 2V8 x3V72 = 6V576
3 192 _ V643
T V27 T V9V
4 V18 _ V9vz
T V324 T V812
5 J16x5 _ VieVx2VxZ Vx
' 8x2 Va V2 x2
Expand and simplify fully:
6. V31 +2V147) =3 + 2V441

7. (5++50)(3-+18)
8. (2V3 +5)(3V12 + 20)
9. (X—=+V7)(X-+63)

10. (X—+v2a)(X—+2a)

Rationalise the denominator, then simplify fully:

11 V3 +6V2 _V3V72 +6V2V72
’ V72 B V7272

12 1 _ 3++2
T3-42 T (3-v2)3+V2)

13 V3 3 (2+3)
T o243 ~ (2-V3)(2+V3)

14 2 x _ (2x)(5-v2)
T 5442 T (5+V2)(5-V2)

15 1++75 (1 ++V75)(7++3)
T 7-43 (73T +V3)

Proof:

16 a = __*(2 -V3)
T V2 443 T (V2 +V3)(W2 -+3)

_x(/Z -+3)

-1

= 15 - 5v18 + 3v50 —v900

= 6v36 + 21/60 + 3V/60 + /100

=X —V9V7 X—+7 X+ 949

= X2 —2a X—+2a X+ V4a?

= 8V3 — 25V3

= 6V4V4V49

_ 82

=

_ _3V2

T oV2V2

_ 2V2W2 xx

=S5
=3 + 42
=15
= 46 + 10V15

_ 676 + 61144

72

3442

T 9+43V2 —3V2-2

23 +3

T 4+2V3 —2V3-3

5xv2 —2x

T 25-5v2 +5V2-2

_ 7++/3+7V75 ++/225
49 -3
_x(V2 =+3)
2-3
_x(3 =+2)

1

=173

= 144

=X — 47 X+ 21

= X2 —2/2a X+ 2a

W6 +12

12

3442

-7

=3+ 2V3

_ (sv2-2)x

23

11+ 183
B 23

=3x—-V2x



